
Proponents of corporate social responsibility (csr) strongly believe in
benevolence; however, they still want their businesses to be profitable. in
the long run, they believe ______________.
however, they still want their businesses to be profitable. In the long run, they believe "CSR can lead to even more profits".

It is generally held that corporate social responsibility (CSR) could build organization benefits and accordingly most substantial organizations are effectively
occupied with it. Most officials trust that CSR can enhance benefits. They comprehend that CSR can advance regard for their organization in the commercial
center which can result in higher deals, upgrade worker faithfulness and pull in better faculty to the firm. Likewise, CSR exercises concentrating on
supportability issues may bring down expenses and enhance efficiencies too.  

Based on the epic simile, how should the reader picture the beam of wood Odysseus found in the cave?
Which religious group migrated to pakistan from british india?
What causes competition in an ecosystem
Find the midpoint 10 and 20
What is the answer too 2(3d+3)
Solve 12^x-2=20 round to the nearest ten-thousandth
What is the poh of a solution with oh- = 9.0 x 10-7?
If 1 moose weighs 1500 pounds how many tons do 3 moose weigh
In the decimal expansion of 2/9 the digit __ repeats indefinitely
?
Read this opening paragraph from "An Indian Father's Plea" by Medicine Grizzlybear Lake: Dear teacher, I would like to introduce you to my son, WindWolf.
He is probably what you would consider a typical Indian kid. He was born and raised on the reservation. He has black hair, dark brown eyes, and an olive
complexion. And like so many Indian children his age, he is shy and quiet in the classroom. He is five years old, in kindergarten, and I can't understand why you
have already labeled him a "slow learner." Which statement best explains why the author begins his letter with this passage? A. The author begins the letter in
this way to describe his son's
physical appearance.
B. The author begins the letter in this way to let the teacher know
that he is upset with her behavior.
C. The author begins the letter in this way to show that he
understands the teacher's perspective.



D. The author begins the letter in this way to explain why his son is
unhappy in the school.
What is y greater then or equal to 2x on a graph
A deficiency of _____ will cause the thyroid gland to enlarge and the person to become sluggish.
World war 1 was caused by a variety of factors including nationalism
While Horace does not rely on similes to the extent that Owen does, he does employ metaphors, both simple and extended. List two examples:
The Sun is expected to undergo hydrogen fusion for a total of _____ years. a million 10 million a billion 10 billion 100 billion
What does a written accent do to a word in Spanish?
Team sports can contribute to overall environmental health because __________. A. most athletes are also devoted environmentalists B. optimum athletic
performance is dependent upon a clean environment C. team sports are played outside, so a clean environment is highly valued D. all of the above Please select
the best answer from the choices provided. A B C D
How did Emperor Asoka assist the spread of Buddhism? *I WILL GET THE RIGHT ANSWER AFTER YOU GIVE ME THE QUESTION*

So if you give me the right one you will get BRAINLIEST!
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